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THREE YEAR B.Com.(ADVT. SALES PROMOTION & SALES
MANAGEMENT) DEGREE EXAMINATION, SEPTEMBER / OCTOBER - 2021
FOURTH SEMESTER
CHOICE BASED CREDIT SYSTEM
PART - II
Paper - II: DSC 2D : Business Laws
(Common to CA , General, Taxation)

(w.ef. 201 6-17)

Time : 3 Hours - - ‘ Max. Marks: 75

SECTION -A
‘ (RES - )
Answer any FIVE ofthe following.
& 208 TS oth B8 SSrrdo ayod. (5%x5=25)

ti~-a) )/ Valid contract.-
Beparen o5y SOETY
by~ Agreement
aolo - _
«i General offer Vs specific offer
el [(HBIFES Vs RBR [B8rEI
d) Consideration
e) Free Consent /
DS DB
f)  Discharge ofa contract
aiotio Gws) BB
g)_ Minor as a shareholder
GPHREDg s"o@r%@e 8.

ity T ) [P.T.O.
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THREE YEAR B.A./B.Com. (General/Computer Application/Taxation And
Tax Procedure) DEGREE EXAMINATION OCTOBER- 2022
CHOICE BASED CREDIT SYSTEM :
FOURTH SEMESTER
. PART-1I: ACCOUNTANCY
Paper - 4B : COST AND MANAGEMENT ACCOUNTING

(Under CBCS New Regulatton w.e.f. )he academic year 2021-2022)

Time : 3 Hours . Max. Marks : 75 :
: \

SECTION-A
Dgrridn - 3 :
Answer any Five of the following. (5x5=25)
Bod PAS® DI pBoHE SLrERHSmen @vdﬁao&
1. Whatare the obJectwes of cost Accounting? .
5] ©8°080R ) oFed H&?
2.  State the methods of pricing of material issues.
. BHBHS arb B8 Do DEYSOR. .
3. Find out total earnings of a worker under Halsey Plan and Rowan Plan |
Standard hours 12
Actual hours worked 9
Hourly rate Rs. 1.50 paise.
(&ea‘@é LBk 655"5 (Be@S tos%o 2 SPBR Ewdo Jdreth EHFdod
¥ Koten 12
' awé D Koben 9
Kot &8 &, 1.50 Bden.
.4.  Compute economic order quantity (EOQ).

Monthly demand for the components 500 units
Set - up cost per order Rs. 60
Annual Rate of interest 10%
Cost of manufacture per unit ' _ Rs. 20
ARV 6:955 $BEreaR)) B0k,

S50 G Joad B0k 500 coRed)
B8 es86% 8B Hyado : » &e. 60

S0 :5& Beo | 10%
SRS Scsrb Bgaho B, 20

5.  Explain limitations of financial statements.
g% Jage HOMHOD DS,

6, Explam the features of job costing.
2 SPRON oY) OFETORD 366060&
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Methods of analysing financial statements. ’

eaaé D36Ee DTN Hisen.

From the following 1nfom?at10n calculate P/V Ratio and Break event point.

Sales 2,50, OOO
“ Fixed costs g

Profit

(Bod Jrerso Hod P/V Q8

SIVISEEY S - 2,50,000

%36 Sgioen

ergo

SECTION -B
Jgriidn - &
Answer one question from each umt

XDG&D @5 &3S 5)°Q>Joé5263 6%&0:‘50&

(5x10=50)

lc_oé’é Qe ool e RS déﬁmém (chiSJo&

The followmg information is relatmg to Vmod Company limited for the month of December

2020 -
Particulars
Opening stock of raw materials -
Closing stock of materials
Purchase of raw materials . -
Carriage inwards’
Wages direct
Wages indirect
Other direct charges
Rent and rates - factory
Rent and rates - office

- Depreciation, plant
Depreciation, office furniture
Salary, office
Salary, salesmen
Other office expenses
Other factory expenses

- Managing director’s
Remuneration
Other selling expenses
Travelling expenses
Carriage outward
Sales

- Advertisement

Rs.
25,000
40,000
85,000

5,000
75,000 .
10,000
15,000

5,000

500
1,500
100

2,500

2,000
900
5,700

12,000
1,000
1,100
1,000

2,50,000
2,000
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Managing director’s remuneration is allocated as Rs. 4,000 to the factory, Rs. 2,000 to the

office and Rs. 6,000 to the selling department.

From the above information find out : (a) Prime cost (b) Works cost (c) Cost of production

(d) Cost of sales (e) Net profit.

Bod H5rerdo E2028 2020 I IFE S0 OWBEE HowofoNb.

AR oven , &,
S8 Soge @rgos dey | 25,000
So& & awc{;e; SwAoDd dex 40,000
08 Serre T 85,000
ESoiben Saper 5,000
BEE Sezre 75,000
I Iscer 10,000 .
238 (D&Y T 15,000
©g O 8@ - a;ggé - 5,000
~ @B oalone) 3&33 e - " 5 4T 500
| gtrse, auoes _ g ) 1,500
S8, eeqa(oa @63555 g : ' 100
Seoen, ehd ' ' 2,500
Laeen, @53535 2,000
288 5% B0 900
388 @‘ﬁéé N - 5,700
DJeoh FZogs r08°s0 12,000
388 3)@06) PI)eD 1,000
E’Joﬁrsé B0 1,100
@a’a)é?eb Bares® 1,000
@é}é@@) 2,50,000

2,000

HEeoden
%J:%aoﬁ 0%5 68%E0 6. 4,000 F5E08, &r. 2,000 SOOATIB BB &, @é:&éo

&)a3°rs°&)§ 6, 000

B BSarBo ol () tozp% a’)éciﬁno @®) 5’35&3 zs?sdiao (co) a&d Eéegcﬁao &) @o“wé@o aS?So‘Sao ’

('a) DEYG ePo D ééaﬁ"éo&

[P.T.0.]

. " (OR/Bw) -
10. Fromthe followmg-partlculars of a manufacturing company prepare a statement showing.
a  Cost of materials used. y
b, Prime cost. |
c.  Works cost. .
d. Percentage of works overhead to productive wages.
e. Costof production.
£  Percentage of general over heads to works cost and
g Net profit.
1-4-101(B)-R20 (3)
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Particulars : Rs.
Stock of raw materials on 1* January 2016 20,000
Purchase of materials in January 5,50,000
Stock on finished goods on 1% January 2016 - 25,000
Productive wages - g 2,50,000
Finished goods sold , : - 12,00,000
Works overhead charges 75,000
Office and general expenses | 50,000
Stock of materials on 31* January, 2016 70,000
Stock of finished goods on 31% January 2016 30,000
&8 a%)8 Joi Qs Bobd DIiToe K08 BIHS B SPHEP S5eSH IDBED Satrthiabod:
DIRBPAODS HBBAHS Hgado.
S Sgado. .
SN Sgado. ‘ v !
AT IdreD $8) ) £.5853r8 zeo.
ad)d éegcﬁ)o. . . _
SION $5000 D Tl 8.553rE TS0 5Bk
Q8YE erglo. : ,
Ddoren : - 8.
1 550 2016 & 08 HoTro deg 20,000
2506 08 TR SRt 5,50,000
1 e5588 2016 % Feowis SKpde Jex 25,000
ABSE JsTeen : 2,50,000
eo&béié SHe Sgado g 12,00,000
$5) ) L863RE arg0ien 75,000
R HBA Jerdem arairey 50,000
31 25538, 2016 & swd drrore Dex - 70,000
31 a0, 2016 § T¥avs S oy 30,000
Unit-1I
11.  The following is the summary of the receipts and issues of material in a factory during
December 2017 prepare store ledger according to first in first out method.
December 2017 ' '
1. Opening balance 500 units @ Rs. 25 per unit.
3. Issue 70 units
4,  Issue 100 units
8. Issue 80 units.
13. Received from supplier 200 units @ Rs. 24.50 per unit.
16. Issue 180 units. _‘ |
20. Received from supplier 240 units @ Rs. 24.75 per unit.
24, Tssue 304 units,
25, Received from supplier 320 units @ Rs. 24.50 per unit.
26. Issue 112 units.
28. Received from supplier 100 units @ Rs, 25 per unit
Itwas revealed that on 15" there was a shortage of 5 units and another on 27% of § units
1-4-101(B)-R20 ) ~ '
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&é o8 2017 &° af&%éée DABHS Siorteh $H8c e Kowofodd SErTrto &
%3& dFore éod, FIFO 558 [Hs~do VB ey grerds S Babol. )i
o 2017 5
I @vtﬁoaf Qex 500 ey (@ 8. 26 .ahrededs
3. 70 ey exb.
4. 100 c&rdérdd wbd
8. 80 chedeydd &b
13. Jgormrdd ol SYNod 200 chrdiy @ &r. 24.50 e,
16. =8 180 chrede.
20. JBHo Tl Lol SDod 240 Gy @ &, 24.75 CHrASD.
24. =0 304 c%wede. iy |
25. JBHoemrdd ol HDob 320 chuedey @ e. 24.50 [oVPu ANy
26. =8 112 cHrden. , : - ‘
28. JBHoTEd Hol SN0 100 chredéy Br. 25 CHreds
15 865 5 credey, 27 S B 8 bl $Ho GOBA EXFIEDI6.
(OR/Ser) :

12. Inafactory guaranteed wages at the rate of Rs. 18.00 per hour are paid in a 48-hour week.
By time and motion study it is estimated that to manufacture one unit of a particular product
20 minutes are taken. The time allowed is increased by 25%. During one week an employee
produced 180 units of the product. Calculate his wages under each of the following methods:
(a) Time rate, (b) Halsey premium bonus and (¢) Rowan premium bonus.

&8 Boyrrdos® Kot . 18.00 S5 48 rote 508" o IdTren BPoSwEran.
2% DBY 6B)8 w8 28 chrdS Sairds 20 Mviren HOHOUY oSt Fchatod.
. SBoD% Pcho 25% HBAR0B. a8 arBos’ ¥ af%h 180 ahrdy aB)BI )8
B, Léo& 58 HEHE° & Jdred BESS 1 () Skad Bew, (D) ?.’3563(3 @)8))0530 5859
£BcH @) B8 Pabo &S, | : ~

: A Unit - 111

13. A work order for 500 units of a commodity has to pass through four different machines of
which the machine hour rates are as follows :

Machine A Rs. 2.50, Machine B Rs. 6.00, Machine C Rs, 8.00 and Machine D Rs. 5.00 The
following expenses have been incurred on the work order : Materials Rs. 40,000; Wages
Rs..3,000; number of hours worked : Machine A) 400 hours; Machine B) 600, hours; Machine
C) 489 hours and Machine D) 200 hours. |

It is estimated that office over heads are 60% of works cost. Calculate the selling price to
get 20% of profit on selling price. :

500 o5l )88 K000 I8 el Trenld S chogre Ty 2rhdhos. H&
Kotse By (BoB Defore eTmom :

cHolso 2 &r. 2.50, cISJoLéo 8 &r. 6.00, o‘ﬁaol;éo 8. 8.00 8csm cholgo & B, 5.00.
55, 6853 308 Lyen SOFoD : DEBALE) &r. 40,000; Baren &, 3000; B rowe
Hogy : Do $o ) 400 Hoben ; chogo &) 600 ffotren; cho@o %) 489 Kodren HHBA

choiso &) 200 Hobyex. ,
o855 .56 TeBen $8)) obo &° 60%. - |
@;@ég‘“@ $82 20% g0 o?a°e>o€5 XN 58 Jod BoTeE® e S8 egs S°§ §1¢5%0

S0l .
(OR/Br)
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14. The demand per annum of a product is 48,000 units it is produced in batches and the largest

15.

1-4-101(B)-R20 © \

size of a single batch is 8,000 units. The set - up cost per batch is Rs. 1,500. The annual
inverntory carrying cost is Rs. 2.25 per unit.
Assume average inventory as 50% of the number of units made in each batch selectmg
4,6,8,12 and 24 batches per annum, determine annual cost of each batch and state the optimum
number of batches to minimise the total cost. _
o8 55 %) BLrol HoSHTE 48,000 chrden 26 S’ 688 JobarhHod
5B 2.8 wgh T @ADL HBEre0 8,000 c56w°§0é33 2.8 a5t JLD eérsdiao &oe.
1,500. 88 aRotd Doy BAHm0s Sydbo oHrdil &, 2 25
‘ooeﬁé‘\)ct’@% 4,6,8,12 £Bck 24 argSoHd JoHHIA, ($8 T55E® SeTBHBhnsS chrde
088" 50% SKen B8 egn&) S G &maé S50 AawoSod 26)60‘61)
B)Jééo NN éf\o:ﬁcﬁ@% T3 @ lEe; Soggo 056"2360&
Umt IV

The following are the Balance sheets of Jaya Ltd. for the years March 31, 2016 and 201 7
Prepare a Comparative balance sheet. o
Particulars , March31,2016 (Rs.) " March31,2017 (Rs.)
I Equityand Liabilities '

'l Shareholder’ s Funds

a.  Share capital - 4,00,000 ' 3,00,000

b.  Reservesand surplus : 1,50,000 1,00,000
2. Non - current liabilities - -
a.  longterm IDBI : 3,00,000 1,00,000
3. Current liabilities : '
a. ~ Shortterm borrowings 70,000 50,000
b.  Trade payables ' 60,000 30,000
c.  Othercurrent liabilities 1,10,000 1,00,000
d.  Shortterm provisions ' 10,000 20,000
. Total , 11,00,000 7,00,000
IL  Assets
1. Non- Current liabilities , . :
a. FixedAssets 4,00,000 2,20,000
~b.  Non- current Investments 2,25,000 1,00,000
2. CurrentAssets
a.  Current investmeénts 80,000 ‘ 60,000
b.  Inventories i 5 1,05,000 90,000
c.  Tradereceivables 90,000 60,000
d.  Cashandcash Equivalents 1,00,000 85,000
€ Short term loans and Advances 1,00,000 85,000
Total 11,00,000 7,00,000

78y 31, 2016 58 2017 (oozéégmeéa 00200800 26D OLBE cﬁnég O OY©
@&é&) @o& APore ST, éooa”ééé 8 Y co&ée:o STHBH0A.
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16. Calculate the trend percentages from the following figures of Sunny Lid,, taking 2015 a8

2015 D word Hodddors biomh sy PROE fob reroso Bok GO ewul

Rs. in Lakha & efiod®

2015 3762 1418 642
2016 4680 1562 -
2017 5310 1632 916
2018 6042 J B8R 1054
2019 16 w8 TE - 1B
 1-4-101(B}-R20 Oy
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Unit-V

17. A retail dealer in garments is currently selling 24,000 shirts annually. He supplies the

18.

following details for the year ended 31* March 2019.

Selling price per shirt : Rs. 800

Variable cost per shirt : Rs. 600

Fixed cost : Rs. 40,00,000

You are required to : Lo

1. Calculate Break Even point and margin of safety in sales revenue and number of shirts
sold.

2. Assume that 30,000 shirts were sold during the year, find out the net profit of the

firm.

3. Assuming that in the coming year, the fixed cost will increase by Rs. 10,00,000 is
anticipated, and

Price of shirt is likely to be increased by 15%,what should be the break even point?

8P TpBo % 28 DB HBSH BRBo HodEoPNs 24,000 PRl DSonTnd.

BRI S8y 31, 2019 8 SoAS Q0HBTeI8 Ea @O& NNV WoBOT.

2§ 559 58D Y : G, 800

&55& 5759 B8 Sgadho : e, 600

R $5600 : &, 40,00,000

L JEddre ewraho HBu HEwoDS HhHo dopgd® @6‘5 GBS Poavols HOUW B -
OSHODH viysre DI BB SHHe QoggS°r B88)oS50s.

2. Xos&B08® 30,000 Fewn w@npidimabl) grdoBol, D0y oY) VEG el
EoRPS08&.

3. TE°GD DoBE)Bos’, B8 H5aho e, 10,00,000 HOAS, 5% 8 15% BN efsdo
608, @D @55 S35 Srowots do Gotnod?

. (OR/Bww) |

A company budgets for a production of 1,50,000 units. The variable cost per unitis Rs. 14

anfi fixed cost per unit is Rs. 2 per unit. The company fixes the selling price at Rs. 20 per

unit.

A)  What is the break - even point?

B)  Whatis the profit/volume ratio?

C) Ifthe selling price is reduced by 10%, how does the revised-selling price affects the
Break Even point and the profit/volume Ratio?

&5 502 1,50,000 iy )88 2B Eod. aedils S5 #eho S, 14 &8

e Y Fgado B, 2. oD eSS ©EDH 5 Lo 20 e Aonodod. Eod
52}
& 6%&0?50&.

) @35 IS Franods.
) ph 08 Do?

R)  O%ES 65 10% 813, (B8 58S FavolS Bt plv D80 der pardso 08,

1-4-101(B)-R20 ®)
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